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4. A 1s a positive irrational number, b is the decimal part and a+b2=m m 1S a positive

whole number. What is the value of 5? (A‘H\/_ (B (C (D\ H\/_
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#b%+b=(m-n) 5 — A # » ¥ 0<b<l > #7r10<b+h?<2
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1. What is the solution of 2|X|-|X-1|<5? ..n(0.4771-0.699)<-(1+3x0.301)=>»-0.2219n<-1.903 - 02219—8 576
(A)-6<x<4 (B)1<x<4 (C)-3<x<4 (D)-2<x<4 Alnz 9=t » iEC -
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®Ox<0 » -2x+x-1<5 » x>-6 6. FAX)=x*2ax+a > FELF Fox o> ERAN)>-2F 2 0 KF Beahi ]2

@0<x<]1 » 2x+x-1<5 » 3x<6 » x<2
@1<x » 2x-x+1<5 > x<4
R P~ T8 = [ -6<x<4 > EA -
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(A)-1<a<2 (B)-2<a<l1
<fE$7>
x*-2ax+a>-2 » x*-2ax+a+2>0
2] 5] 18 D=(=2a)-4(a+2)<0 >
a*-a-2<0 > (a-2)(a+1)<0 > -1<a<2

(O)-1<a<3 (D)-2<a<3
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1 F > A2 (log2x)-(log3x)=12. =5 a ~ B Fla =?
(7.2)'=3=>7.2=3x 1 1
1 Az B) -2 (6 (D)-6
(0 8)y—3 =>0.8=3» <fiz 4>
. 1___ 2 011 5 en. R 7 =(logx+log2)(logx+log3)=1
3 3 9=3 Xy 2B (logx)?+(log2+ log3) logx + (log2 log3-1)=0
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f(X)=(x2-x+1)p(x)+2x-3

f)=(x-1)q(x)+1

2 f(x)= (x2-x+1) (X-1)r(x)+m(x?-x+1)+2x-3

= f(1)=m- (1-1+1)+2-3=1 > m=2 > &5
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U=2(X2-x+1)+2%-3=2%2-1 » EA -

s 2x-3 0 1w x-1 ‘ﬁrf S 5 1 B f(x)

(A)2x-1 (B)3x?-1 (C)2x*-x-1 (D)3x*-x-1

£ t=logx - t*+(log2+ log3) t+ (log2 log3-1)=0
3425 loga ~logpf
log a + log 5 =-(log2+log3)

logar 5=-log6 - logar f=logz o B=2 > & A
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roy=2t2 2+x+1 2 yXCHYXHY=2X2-X+2

(y-2)x2+(y+1)x+(y-2)—0
Oy-2=0=>y=2 > 3x=0 > x=0

@ y-2# 0> (y-2)x2+(y+1)x+(y-2)=0 E_X th— <= = > 4258 » § F 2

D=(y+1)*4(y-2)(y-2)=0
-3y?+18y-15>0 » 1<y<5
Sy=fX) B 1 Bk @50 B atb=1+5=6 > i B -
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1. The sequence <a,> satisfying a;=2, a,,+1=@a,,. Find a,=
<fiz 47> !

o k=123

k=1 > azzéal
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4
k=2 > agzzaz

5
k=3 » a4=§a3

3 4 5 6 . n .n+1
1 2 3 4 n-2 n-1
= a. n(n+1)_ 2n(n-’-l) +n
1-2
2. EXHFN1~4-T~10~13~ . FE 7 ER N A A~ A3~ .23 Y
B Ay 2. = ’,‘%‘1 *—“f"ﬁ 3{—?&“,&{?% ° &
<fr 5> A3 1
()L~4~7~10~13~ ... » " AT2 }14 ‘7“717
% n3 i 1+(n-1)xX3=3n+2
B 44] [71717) [0l0liolo]
(2) =« 1 X 142X 4+3 X 7+...+20X58
=¥ k(3k-2)=3 B2, KP-2 50, k=3x 20 222=8610-420=8190
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3. 4 out of 6 people will visit cities A, B, C, and D. Each city has to have one visitor and
each visitor can only go visiting one city. Thus, Alex and Leo are not going to visit
city D, then there are types of visiting plans.

<fiz 7>

6 AB 4 X ETREE-A A2 - 2 FBF D

P§-2xP3=360-120=240 #&

4. 2 1\(1+2x) -1
<fiz 7>

EXOE LA BB g k] 3R

B C (1) F(2x) =2k xk

B k=3 » % #=2>-C3=80
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5.In AABC, AC=10V3, AB=10, ./ B=120°, find the area of AABC is .
<fz45>

AABC & 4= x10x10V3xsinA

V3
103 10 10X

B — =——=Psin =
sin120°  sinC 10\/_ 2

C.2C=30" & 150° (# & » = &35 & 40=180" )
=~ A=180°-120°-30°=30°
AABC & ## ——><10><10\/_><51n30°=—><10><10\/§><——25\/_
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5 7 5 7 7X6X5 7X6X5
C0'C4_C1'C3_ 1><3><2><1 5><3><2><1_1 7 35_57_19

c? cy? 99x5  99x5 99 99 99 33

7. %3 R Lix+2y-1=0 21 ] C: (x-2)+(+3)>=5 4p*» 2 2L P > B| P Bhebrek £ 4
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AL F =2 B0 BPAE AL F S Ma 2 MaX (-5)=-1 > me=2
y+3=2(x-2)=>»2x-y=7=0

x+2y-1=0 . B . B
(o >3 =t o ¥ P, )P, )
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=4 Ay +1=0 » x=24+3
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Ox=(2+3)=2+V3 » =1 » k=2

k
@ x=(23)'=2—V3 > 5=1 k=2
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(1) x* 4= ¥ +axPy>+4yt-4x?y?

=(x*+21%)*-(2xy)?

=(x?+2y*+2xy) (x*427-2xy)

)2 a=8k k=23~ 4~ 5~ e

Bl % z=n* a4k =(n*+2k>+2nk)(n*+2k>-2nk)
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W2 2nk=>n*+2k2-2nk=(n-k*+ik*>k* >4
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